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55| ZA9NOz@a) + NazCr0ye) —7ZNaN0z(aq) + A92lr0y s,
75,0 wmL 7 g
0:.100 M

[Ag+1= | x 0,100 M = 0.)00 M

Mol Agt = (0.100 M)(0,0750 L) = 0.00750 ypo| Agt

-

NET lonic €gn . Z2Agtaey ¥ Croy%aay 7 A92Croycs)

0.00750 mo) &

0. 00750 woh Agt | | mdl Criy?z— = 0. 00375 wmal Crog*™

2 ol Agt

0.00375 o\ Crou® | I mal Na(Cr04|1€1.98 9 NaCyUy

| mol CroqZ= || my) N@:’/CVOZ{

=1]10,607 q Mazcrﬁﬂ

‘A AHﬁﬂﬂO\hV‘C N\‘C‘ﬂ’lod‘ - Do Al Math v One 'vgﬂ‘du

You ¥ow gt all AgY 1 cnsumied , taus all AgNos 15 consumed

wd¥ng  AgNos the hmiing teqetant, wWhida defehmnes how

WUOh Praduck 1s made & Viaw much N CYOy (s Needed

0,00150 wo! A@N(/s\\ mal NeazCr()y ]16\»48 g NazCr 0y :[0,6079\)

[2wol pgnds |1 mol Na=Croy | Nazcroy |

14

——




ChAv1ER Y

=7,

A'(NO&)B(&M +3¥0Haay —> 3KN03 (aa) + A‘I(UH)3(5)
>

50, 0 mL 200/ 0 mL . 9

0.200 M 0,100 M

Livniting Reackany <

0. 200M Al (W3)33<O,0500 L) = 0. 0100 ma) Al(NO3)2

0. 0100 mal A1 (NO3)3 || mol AN (OH) = |78.009 Al(oH)s

[ mol Al(NO3)5 |l mal Al(0H)s

A

0, 180 9 Al (oH)z <

(0-100 M ko) (0.2000L) = 0.0200 mol KW\ cpmpare

0.0200 wiol KOW || mol Al (0H)3| 78,009 Al (0H); /

3 ol o | mol Al (oW

-[0.520 o Al{0H); |

o

“Theorehal yield = Max At
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59. AgNO;(aq.) + NaB((aey —> NaN0Oz@aa) + Av]f?’fc_s)
[00. 0 mL 20,0mL € “
0150 M ., ].00 M
L&

(0150 M A9NU3)(0.]006 L) = 0. 0150 wid) AgNo

0.0150 wel fgNUs| | mal A9Br |187.89 AgBr

| Mgl AgN0s || mal AgBy .

Llﬂ")(
2.82 g pgpy |Theotencal YIET ™ pik.

1)

<_\

(1:00 M NgBr)(0.0200 L) = 0.6200 miol Nagr \

)compare

0.0200 mol NAPx || mal AgBr|187.% 9 Aopr ]

| md) NaBr || mol AgBr

= 3,76 9 A—gB( L=




